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Game 36
Solak – Istratescu
Halle jr Wch 1995

1 e4 c5 2 Ìf3 d6 3 d4 cxd4 4 Ìxd4
Ìf6 5 Ìc3 a6 6 Íg5 e6 7 f4 Ëc7 8
Ëf3 b5 9 Íxf6 gxf6 (D)

10 e5?!
This is another critical line. White

obtains some initiative on account of
his better development and the aggres-
sive position of his pieces. As usual,
Black will try to repel the attack and
then make use of his bishops and cen-
tral pawns to obtain an advantage.
White has three more peaceful options
that are probably better than the text-
move:

a) 10 0-0-0 b4! 11 Ìce2!? (11 Ìd5
takes us to Game 38) has barely been
played, but maybe it should be tried
more often, for Black needs to play
very actively to achieve adequate coun-
terplay.

a1) 11...Íb7? 12 Ëh5! Ëc5? (af-
ter 12...Íxe4, White replies 13 Ìg3)
13 e5 Íd5 14 f5! æ.

a2) 11...Ìd7?! 12 Ëh5! Ìc5 13
Ìg3 Íb7 14 f5 0-0-0 15 fxe6 fxe6 16
Ëh3 À.

a3) As we can see, the queen must
not be allowed into h5. Therefore,
11...h5! is absolutely necessary. After
12 Ìg3! (12 e5? dxe5 13 Ëxa8??
loses to 13...Íb7 14 Ëa7 Íc5, while
12 h4?! Íb7 13 Ìg3 Ìd7 14 Ìxh5
Ëa5 is not very good either) 12...h4 13
Ìh5 Ìd7! (another good recommen-
dation from Emms; Black sacrifices
his h-pawn in return for a couple of
tempi and activity) 14 Ëg4 Íb7 15
Ëxh4 (15 f5 e5 16 Ìb3 Íh6+ 17
Êb1 Íg5 is OK for Black) 15...0-0-0
16 f5 e5!? (Emms gives 16...Ìc5,
with compensation) 17 Ìb3 d5 18
exd5 Ìb6 19 Íe2 Ìxd5 20 Íf3 (20
Êb1 a5!) 20...a5! Black has a very
promising attack.

b) 10 Íd3 is a very tricky move
that does not commit the king’s posi-
tion yet. For instance, after 10...Ìc6
11 Ìxc6 Ëxc6, White might try 12
0-0, or 12 a3 followed by 13 0-0, in
both cases with some initiative. So
Black should play 10...Ìd7!? (D), and
then:

b1) 11 0-0 is possible here, but
Black seems to achieve enough coun-
terplay by putting pressure on White’s
centre; e.g., 11...Íb7 12 Ëh5? Ëc5!.

b2) After the thematic 11 f5!?,
Black must be very careful. 11...Ìc5!
(11...Ìe5?! 12 Ëh5 Ëc5 13 0-0-0 À)
12 0-0-0 b4! 13 Ìce2 (13 fxe6 bxc3
14 Ëxf6 Îg8! Ã) 13...e5 is good for
Black.

b3) 11 0-0-0 Íb7 12 Îhe1 (12 f5!?
e5! 13 Ìb3 Ìb6 should be alright for
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Black; in general, when the knight
reaches b6 Black is doing well because
he has d5 under control) 12...0-0-0 13
f5 and here:

b31) 13...Ìc5?! was played in the
game Suetin-Balashov, Sochi 1973.
White obtained an advantage after 14
fxe6 fxe6 15 Ëh3! (15 Ëxf6 Íg7
only helps Black) 15...Ëd7 16 Íe2 h5
17 b4 e5, but now missed the chance to
increase it by 18 Ìf5! æ.

b32) 13...e5!? is untried, but we
believe it gives Black adequate coun-
terplay. For example, 14 Ìb3 Ìb6,
and whenever White hops into d5,
Black simply takes with the knight
and keeps the bishop to put pressure
on d5. Now Black has ideas like ...h5,
...h4, ...Íh6, or ...Êb8 and ...Îc8, and
sometimes even ...d5.

c) 10 a3!? is a little move that also
keeps Black guessing where the white
king will go. Therefore, we again pre-
fer to avoid 10...Ìc6 11 Ìxc6 Ëxc6
12 Íd3, followed by 13 0-0, which in
our opinion gives White the better
chances. 10...Íb7! (D) (10...Ìd7?
does not work now because of 11 f5!

Ìc5?! {11...Ìe5 12 Ëh5 æ} 12 b4! æ)
is our recommendation:

c1) The natural 11 0-0-0 (11 Ëh5?
Ëc5!) simply allows Black to develop
his pieces. 11...Ìd7 12 Ëh5 Ìc5 13
f5 0-0-0 14 fxe6 fxe6 15 Ëh3 (this
should be compared to line ‘b31’; then
it becomes clear that the tempo spent
on a3 has not helped White too much)
15...Ëg7!? (the idea is to exchange
queens and play with the bishops; how-
ever, 15...Ëd7 is perfectly viable; e.g.,
16 Íe2 h5 17 b4?! e5!) 16 Ìxe6 Ëh6+
17 Ìf4+ Ëxh3 18 Ìxh3 Íh6+ 19
Êb1 Ìxe4 is at least equal for Black.

c2) 11 Íe2! is apparently inoffen-
sive, but there is a hidden idea to it.
11...h5! (11...Ìd7? is what White was
counting on: 12 f5 e5 13 Ìe6! fxe6 14
fxe6 Ìc5 15 Ëxf6 +ø) 12 0-0-0 Ìd7
13 Ëh3 and now:

c21) 13...0-0-0?! is the theoretical
recommendation, but the machine eas-
ily refutes it: 14 f5 e5 15 Ìe6!! fxe6
16 fxe6 Êb8 (16...Íh6+ 17 Êb1 Ìb6
18 e7+ Îd7 19 Íxh5 +ø) 17 exd7 À.
White should be better here.
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c22) We suggest 13...Ìb6! (D) once
again, getting ready to meet White’s
f5 ideas. Now:

c221) 14 Íxh5 0-0-0 15 Ëg4 Êb8
gives Black enough play for the pawn.
His king is safe and he is now ready to
play along the c-file.

c222) 14 Ìxe6!? is a sacrifice that
must always be taken into account.
14...fxe6 15 Ëxe6+ (Black can now
choose either to enter a balanced end-
game or to try for more in an unclear
middlegame) 15...Ëe7!? (this leads to
an equal ending; 15...Íe7!? is the real
man’s move: 16 e5! {16 Íxb5+?! Êf8
17 Íd3 Íc8 18 Ëb3 Îb8 Ã} 16...dxe5
17 fxe5 Êf8 18 Îhf1 Îh6 is a real
mess; White is in a very threatening
position, but Black’s bishops defend
quite well in these situations) 16 Îxd6
Ìc4 17 Íxc4 bxc4 18 Ìd5 (18 Îhd1
Ëxe6 19 Îxe6+ Íe7 20 Îb6 Îa7 =)
18...Íxd5 19 exd5 Ëxe6 20 Îxe6+
Êf7 21 Îc6 h4! =. The h-pawn is quite
important in these endings because it
fixes White’s kingside pawns, which
can later be attacked by Black’s rooks.

10...d5 11 exf6 b4! (D)
Black has mainly tried 11...Ìd7

here, but in our view the text-move
represents the critical continuation.
Now White must either sacrifice the
knight or retreat it to a less active
square.

12 Ìxd5
It is hard to believe that White can

fight for an advantage by playing 12
Ìce2. After 12...Ìd7 13 f5 (absolutely
necessary, for otherwise it would be
too simple for Black) 13...e5! 14 Ìe6
(again forced; 14 Ëxd5? Íb7 15 Ìe6
fxe6 16 Ëxe6+ Êd8 gives White very
little for the sacrificed piece) 14...fxe6
15 fxe6 Ìxf6! (Black returns the
booty, but he retains the usual advan-
tages: the two bishops and a strong
pawn-centre; now he must find a shel-
ter for his king; on the other hand,
15...Ìb6?! 16 Ëh5+ Êd8 17 e7+ is
somewhat better for White) 16 Ëxf6
Íg7 17 Ëf5 and then:

a) The logical move appears to be
17...Ëe7?, but then White can con-
tinue 18 Ëh5+ Êd8 19 c4!, which
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